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PUBLIC ADMINISTRATION
Paper - 11

Note :  This paper contains hundred (100) objective type questions. Each question
carries two (2) marks. All questions are compulsory.

1. Match List — I with List — I and select 2. Given below are two statements, one

the correct option from the codes given
below :

labeled as Assertion (A) and the other
labeled as Reason (R).

Assertion (A) : Classical theory treats

List -1 List — 11 organization as a closed system.
 Public 1. Weidner Reason (R) : Classical theory lacked
.. : behavioural analysis.
Administration

studies have to be
comparative to
claim the status
of a science

In the context of the above statements,
which of the following is true ?

(A) (A) is false, but (R) is true
(B) (A) 1s true, but (R) 1s false
(C) Both (A) and (R) are true and (R) is

the correct explanation of (A)

b. Development 2. Hahn-Been- (D) Both (A) and (R) are true, but (R) is
administration is Lee not the correct explanation to (A)
goal and action ) ) )

ented 3. Match List — I with List — II and select
oriente the correct option from the codes given

c. Bureaucratic 3. R. Dahl below. : .
structures are List -1 List - IT
necessary but a. Indlan . ) 1 Mlnlstry Of
not sufficient Admlmstratlve Environment

Service

d. Developmentis 4. V. Ostrom b. Indian Police 2. Ministry of
both process and Service Home
purpose c. Indian Forest 3. Ministry of

. Service Health
Codes :
d. Indian Medical = 4. Ministry of
a b ¢ d and Health Science  Personnel
A 3 2 4 | Codes
a b c d
B) 4 1 3 2 A) 3 1 > 4
C 3 1 4 2 B 4 2 1 3
< 2 3 1 4
® 4 2 3 1 M 1 2 4 3
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4. According to Mary Parker Follett, the 8. Human relations theory believed that the

principles of effective coordination are
1. Intellectual ability

2. Continuity

3. Reciprocity

4. Mutual consultation

people are
(A) Heterogeneous
(B) Economic man

(C) Homogeneous

Codes : (D) Altruistic

A) 1and?2

EB; 1 a2n d3 9. Chris Argyris wrote a book entitled
,2 an

(C) 2and 3 (A) Organisation and Innovation

(D) 2,3and 4 (B) Scientific Management

. Which one of the following is not a type
of Bureaucracy ?

(A) The guardian bureaucracy

(B) The caste bureaucracy

(C) Merit bureaucracy

(D) Autocratic bureaucracy

. “In broader context, the goals of
administration are ultimately the goals

of state itself”’. Whose statement is
this ?

(A) L. D. White

(B) Woodrow Wilson

(©) F.J. Goodnow

(D) W.F. Willoughby

. Who among the following is not a
follower of Taylor ?

(A) Henry L. G.

(B) Frank and Lillian Gilbert

(C) H. Emerson

(D) Robert C. Bone

K -2320

10.

11.

(C) The Practice of Management

(D) Administrative Behaviour

“The concept of unity of command
requires that every member of an
organisation should report to one and

only one leader”, who are associated
with this quotation ?

(A) Henri Fayol and Secklar Hudson
(B) Luther Gullick and Henri Fayol
(C) Piffner and Presthus

(D) F. W. Taylor and Elton Mayo
Which of the following are the

positions enjoyed by the chief
secretary of a state ?

(A) Secretary to the cabinet

(B) Chief spokesperson to the Chief
Minister

(C) Assisting the Ministers

(D) Representative of the state in all
legal matters

Paper 11
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12. Among the following one is not a type
of research design.
(A) Selecting a research problem
(B) Writing the abstract

(C) Literature survey

(D) Case study method

13. What is the correct descending
order of the following officers in the
secretariat ?

1. Joint secretary
2. Additional secretary
3. Secretary
4. Deputy secretary
Codes :

(A) 3,1,2,4
(B) 3,2,1,4
) 3,4,1,2
(D) 3,2,4,1

14. What s the correct sequence of scientific
research ?

Answer the codes given below.
1. Review of literature
2. Selection of problem/Topic

3. Identification of research questions
and objectives

4. Data collection and analysis.
Codes :
(A) 1,2,3,4
B) 2,1,4,3
©) 3,4,1,2
(D) 2,1,3,4
K -2320
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15. Match List — I with List — II and select

the correct answer from the codes given

below :
List -1 List — 11
a. Conceptual 1. Helps to
review understand

different schools of

thoughts

b. Theoretical 2. Identify research
review gaps in the existing

literature

c. Empirical 3. Operation of

review variables and

measurements

d. Paradigm 4. Causal relations

review between variables
and helps to
formulate
hypothesis
Codes :
a b c d

A 3 4 2 1
B 2 1 3 4
© 1 2 4 3
D 3 1 2 4
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16.

17.

K-

Given below are two statements, one
labeled as Assertion (A) and the other
labeled as Reason (R).

Assertion (A) : Just like other states,
Panchayati Raj institutions in Kerala
State are not very effective in functioning
after 73" Constitutional Amendment
Act.

Reason (R) : Kerala Government
withdrew 3Fs (Functions, Functionaries
and Finances)

In the context of the above statements,

which of the following is true ?

(A) (A) is false, but (R) is true

(B) (A) is true, but (R) is false

(C) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(D) Both (A) and (R) are true, but (R) is
not the correct explanation to (A)

Match the List-I with List-II and select
the correct answer from the codes given
below :

List -1 List — II
a. Hanumantha 1. Block Level
Rao Committee Planning
b. Dantwala 2. District
Committee Planning

c. G. V.K Rao 3. Panchayat Raj
Committee

d. Balvant Rai 4. Administrative
Mehta Arrangement
Committee for Rural

Development

Codes :

a b c d

A 2 1 4 3

@) 1 2 3 4

< 3 1 2 4

D) 3 2 4 1

2320

Total Number of Pages : 40

18. Which of the following pairs is associated
with local self Government ?

(A) Zilla Panchayat and District Rural
Development Agency

(B) Taluk Panchayat and Village
Panchayat

(C) Village Panchayat and Village
Forest Committee

(D) Village Panchayat and Village
Education Committee

19. Electronic Governance is associated with
the following aspects.

Select the correct answer from the
codes given below :

1. Reduces paper work and staff.
2. Fast communication and speedy

delivery.
3. Transparency and there by eliminates
corruption.
4. Not suited to Indian conditions.
Codes :
(A) 1,2 (B) 3,4
©) 1,2,3 (D) 2,3,4

20). Privatisation of Public Administration
is associated with the following
activities.

Select the correct answer from the
codes given below :

1. Outsourcing and contracting of
Government work

2. Public, Private Partnership
Collecting taxes
4. Disinvestments in public

|9S)

undertakings.
Codes :
(A) 3,4 B) 1,2
©) 1,2,4 (D) 2,3,4
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21. Which are the following characteristics

of good governance ?

Select the correct answer from the
codes given below :

1. A Government which enjoys trust
and confidence of the people.

2. A Government which is transparent.

3. A Government which is responsive
and accountable.

4. A Government which is governed by
technocrates and experts.

Codes :
(A) 2,3,4
(B) 3,4,1
O 1,3
D) 1,2,3

22. The citizens control over administration

is dependent upon
(A) Election

(B) Public opinion
(C) Pressure groups

(D) Ideologies of political parties

23. Department of public enterprises is

under the supervision of

(A) Ministry of Commerce

(B) Ministry of Finance

(C) Ministry of Home

(D) Ministry of Industries
K -2320
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24. The following thinker who turned
from political scientist to management
philosopher

(A) Chester D. Barnard
(B) Mary Parker Follet
(C) Rensis Likert

(D) Luther Gullick

25. The new public management was

introduced on the basis of the following
book

(A) Development Administration
(B) Personnel Management

(C) Reinventing Government
(D) Two Wings of Fire

26. Who is known as Father of Budget in

India ?

(A) M. S. Swaminathan
(B) Manmohan Singh
(C) Jawaharlal Nehru
(D) P. C. Mahalanobis

27. The behavioural approach led to
administrative research on which of
the following ?

1. Motivation studies

2. Decision making studies

3. Organisational structures

4. Behaviour of individuals in the

organisation.
Codes :
(A) land3only (B) 1,2and3
(C) 2,3and 4 (D) 1,2 and 4
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28. Given below are two statements, one

29.

30.

K-

labeled as Assertion (A) and the other
labeled as Reason (R).

Assertion (A) : The stakeholders confer
specified authority to their board of
directors.

Reason (R) : Delegation is only
devolution of authority from higher to
lower levels.

In the context of the above statements,
which of the following is true ?

(A) (A) is false, but (R) is true
(B) (A) is true, but (R) is false

(C) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(D) Both (A) and (R) are true, but (R) is
not the correct explanation to (A)

Theintegral view of Public Administration

was supported by

(A) Luther Gullick

(B) Simon

(C) Thomson

(D) L. D. White

The cause of mental revolution is

associated with one of the following
theories :

(A) Systems Theory

(B) Classical Theory

(C) Human Relations Theory

(D) Scientific Management Theory
2320
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According to whom “The staff could
be divided into three types-viz-general,
technical and auxiliary staff ?

(A) Willoughby

(B) Henry Fayol

(C) Piffner and Presthus

(D) Gullick

“Co-ordination is the orderly

synchronization of efforts”. Whose
view is this ?

(A) Charles Worth

(B) Terry

(C) Mooney and Reiley

(D) Newman

One of the following is not a technique
of supervision

(A) Report

(B) Approval of personnel

(C) Work budget

(D) Service standards

Who said “an organisation is a system
of roles graded by authority” ?

(A) Max Weber

(B) Wright-Mills

(C) Chester Barnard

(D) Robert Presthus
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35. Which of the following periods is
called as a “period of crisis of identity”
in public administration ?

(A) 1887-1937
(B) 1938-1947
(C) 1948-1970
(D) 1970-Onwards
36. Whichnew trend in Public Administration

evolved with the writings of Dwight-
Waldo and Frank Marini ?

(A) Theory Building
(B) Development Administration
(C) New Public Administration
(D) Managerial Revolution
37. According to Hawthrone experiments

the primary determinant of workers
efficiency is

(A) Unquantifiable relation between
worker and manager

(B) Material incentive
(C) Working conditions
(D) Relationship between workers and
citizens
38. “Administrative Behaviour”, (1945) was
written by
(A) Herbert Simon
(B) Elton Mayo
(C) Mary Follet
(D) Fred Riggs
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39. “Traditional authority” means

(A) Itis alegitimate and justified
authority

(B) Itshould be obeyed as it was always
done so earlier

(C) It should be obeyed because of
personal qualities

(D) It should be obeyed as it is coerced
40. The process of decision-making does not
involve
(A) Definite rules for decision making
(B) Matter of practice
(C) Collection of information
(D) Designing of alternatives
41. Theory ‘X’ and ‘Y’ was the
contribution of
(A) Herzberg
(B) McGregor
(C) McClelland
(D) Maslow
42. The concept of ‘position classification’

was developed in
country.

(A) Germany
(B) France
(C) USSR
(D) USA
Paper 11
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43.

44.

45.

K-

“The politics of Bureaucracy’ who is the
author of this book ?

(A) Robert K. Merton

(B) William Niskanen

(C) Gordon Tullock

(D) Max Weber

Behavioural approach is the study of
Public Administration was developed by

(A) Luther Gullick and Marshall
Dimock

(B) Chester Barnard and Herbert
Simon

(C) L. D. White and Luther Gullick
(D) Herbert Simon and Luther Gullick
Match List — I with List — II and select

the correct answer from the codes given
below :

List -1 List - 11
a. Henri Fayol 1. Human
personality
b. F. W. Taylor 2. Bureaucracy
c. Max Weber 3. Scientific
approach
d. Chris Argris 4. Administrative
theory :
Universal
Codes :
a b ¢ d
A 1 2 3 4
@ 2 3 4 1
< 3 4 1 2
D) 4 3 2 1
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According to Urwick, where the work is
of a more simple and routine nature, the

span of control varies from

(A) 9to 12

(B) 7t0 9

(C) 8to 12

(D) 12to0 14

The most important factor that lead to
judicial activism is

(A) Failure of legislative control
(B) Political corruption

(C) Abuse of authority

(D) Public interest litigation

‘Zero base budgeting’ was first

introduced in

(A) UK (B) India
(C) USA (D) France
The Finance Commission is appointed

to deal with

(A) Measures to be adopted to fight

corruption

(B) The distribution of taxes between

union and states
(C) Formulation of five year plans

(D) Periodic evaluation of progress of

plans
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50. A ‘Public Corporation’ is created by
(A) A resolution of the Government

(B) A specific Act of Legislature

(C) Registration under the Societies
Registration Act

(D) Registration under the Companies
Act
51. Article 311 of the Indian Constitution
relates originally to
(A) Grievance redressal machinery
(B) Financial administration

(C) Protection of civil servants against
dismissal

(D) Transfers of civil servants
52. Northcote Trevelyan Report (1854)

and Macaulay Report (1854) were
supportive of

(A) Generalist
(B) Specialist
(C) Recruitment
(D) Promotion
53. The legislature refers the Audit Report
for examination to
(A) The Estimates Committee
(B) The Public Accounts Committee
(C) The Finance Minister

(D) The Department of Revenue
K -2320
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56.
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Which of the following about ‘Systems
approach’ to organization is not
correct ?

(A) Organisation and its environment
are interdependent

(B) It evolves certain fundamental
principles of organisation

(C) Each system is the subsystem of the
other

(D) It has been derived from general
systems theory

Articles 149 to 151 of the Constitution
deal with duties and power of which of
the following high ranking authority ?

(A) Comptroller and Auditor General of
India

(B) Election Commission

(C) Central Vigilance Commission

(D) Union Public Service Commission
Which one of the following is not taken

as the basis for the preparation of the
budget ?

(A) Sanctioned budget estimates for the
current year

(B) Revised estimates of the current
year

(C) Proposed estimates of the next five
years

(D) Actuals of the current year available
at the time of preparation of the
estimate
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57.

58.

59.

K-

Which of the following statements are
correct pertaining to civil servant ?

1. Goals of the Constitution
2. Common good
3. Ruling party’s ideology

4. The execution of public policy

Select the correct answer using the
code below.

Codes :

(A) 1,3,4

(B) 2,3,4

©) 1,2,3

(D) 1,2,4

Which one of the following is not a

department in the Ministry of Finance,
Government of India ?

(A) Department of Economic Affairs
(B) Department of Company Affairs
(C) Department of Expenditure

(D) Central Board of Direct Taxes

A theory suggesting that people are

motivated by a hierarchy of needs was
advanced by

(A) Fred Riggs

(B) McGregor

(C) Abraham Maslow
(D) Max Weber
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60. In order to understand the learning skills

of students of various disciplines, which
of the following sampling methods are
adopted ?

1. Simple random
2. Systematic random
3. Stratified random

4. Purposive sampling
Codes :

(A) 1and 2

(B) 2and 3

(C) 1 only

(D) 3 only

61. Which of the following are mainly

associated with qualitative research
method ?

1. Household poverty surveys

2. Collecting information through
Schedules

3. Collecting information through

interviews
4. Participative observation
Codes :
(A) 1and 2
(B) 2and 3
(C) 3and 4

(D) 4and 1
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63.

K-

What is the significance of the theoretical

review ?

1. Understand causal relationship of

variables.

2. Operationalization of variables.

3. Identification of Research gaps.

4. Measurement of variables.
Codes :
(A) 2and 3
(B) 3and 4
(C) 2 only
(D) 1 only
Which of the following is associated

with the civil society in implementing

development programmes ?
1. Non governmental organisations.
2. Panchayat Raj.
3. District Administration.
4. State Administration.

Codes :

(A) 1 only

(B) 2and 4

(C) 2and 3

(D) 3and 4

2320
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Match List — I with List — IT and select
the correct option from the codes given
below :

List -1 List — 11
a. IMF 1. Monetary Fund
b. IBRD 2. Trade
c. WTO 3. Reconstruction
and Development
d. UNDP 4. Human
Development
Codes :
a b c d
A 1 3 2 4
B) 2 3 4 1
< 3 2 1 4
@ 1 2 4 3

Social auditing of Gandhi National Rural
Employment programme is associated
with the following.

1. Grama Sabha

2. Grama Panchayat
3. Taluk Panchayat
4. Zilla Panchayat

Codes :

(A) 1and 2 (B) 2 and 3
(C) 3and 4 (D) 4 and 2
Which of the following is not

associated with the Independent
Regulatory Authorities ?

1. Central Electricity Regulatory
Authority.

2. Insurance Regulatory Authority.
Telecom Regulatory Authority.
4. National Pension Development and
Regulatory Authority.
Codes :
(A) 1and 2
(C) 3and 4

(98]

(B) 2 and 3
(D) 4and 1
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67. Match List — I with List — II and select
the correct option from the codes given

below :
List -1 List — 11
a. MGNREGA 1. Roads
b. NRHM 2. Education
c. SARVA 3. Employment
SHIKSHA
ABHIYAN
d. BHARAT 4. Health
NIRMAN
YOJANA
Codes :
a b c d
A 1 2 3 4
B 2 4 3 1
< 4 2 1 3
D) 3 4 2 1

68. Which of the following is not a character
of a strong State ?

1. Effective Implementation of land
reforms.

2. Protecting the rights of children.
3. Controlling corruption.

4. Controlling the police free.

Codes :
(A) 1and 2 (B) 3and 2
(C) 4and 2 (D) 4and 3

69. Essence of both basic and applied
research lies in

(A) Market orientation research
(B) Scientific Method

(C) Programme monitoring research

(D) Coding method
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70. Arrange the following approaches to the
study of public administration.

1. Institutional and structural
approach.

2. Decision-making approach.

3. Ecological approach.

4. Behavioural approach.

Codes :
(A) 4,1,2,3
B) 4,2,1,3
C) 1,4,2,3
(D) 1,2,4,3

71. Given below are two statements, one

labeled as Assertion (A) and the other
labeled as Reason (R).

Assertion (A) : Chief Secretary of a
state administration is the head of the
concerned state secretariat.

Reason (R) : He has absolute control
over all the civil servants.

In the context of the above statements,

which of the following is true ?

(A) (A) is false, but (R) 1s true

(B) (A) 1s true, but (R) 1s false

(C) Both (A) and (R) are true and (R) is

the correct explanation of (A)

(D) Both (A) and (R) are true, but (R) is
not the correct explanation to (A)
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72. Given below are two statements, one

73.

K-

labeled as Assertion (A) and the other
labeled as Reason (R).

Assertion (A) : To some extent the
developing societies have identified that
their country is over governed.

Reason (R) : The citizen’s opine into
down sizing of their Governments.

In the context of the above statements,
which of the following is true ?

(A) (A) is false, but (R) is true
(B) (A) is true, but (R) is false

(C) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(D) Both (A) and (R) are true, but (R) is
not the correct explanation to (A)

Given below are two statements, one
labeled as Assertion (A) and the other
labeled as Reason (R).

Assertion (A) : Research Report is the
right royal way to communicate research
findings to the society.

Reason (R) : A research report should
show originality to solve societal
problems.

In the context of the above statements,
which of the following is true ?

(A) (A) is false, but (R) is true
(B) (A) is true, but (R) is false

(C) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(D) Both (A) and (R) are true, but (R) is
not the correct explanation to (A)
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74.

75.

76.

Total Number of Pages : 40

The Governor of a state appoints

1. Advocate General.

2. Chairman of the State Public Service
Commission.

3. Members of the State Public Service
Commission.

4. Chief Justice of the High Court of a
State.

Codes :
(A) 1,2 and 4 (B) 2,3 and 4
(C) 3,4and 1 (D) 1,2and 3

Administration consists of manual,
clerical, managerial and technical
activities undertaken in persuit of an
objective in view. This is the

1. Wider view of Administration

2. Integral view of Administration

3. Narrow view of Administration

4. Managerial view of Administration
Codes :
(A) 1and 2
(C) 2,3and 4

(B) 1,2and 3
(D) 1,2,3and 4

Given below are two statements, one

labeled as Assertion (A) and the other

labeled as Reason (R).

Assertion (A) : The spoil system is

the U.S.A. led to institutionalization of

corruption and nepotism in the political

and administrative culture.

Reason (R) : The politics administration

dichotomy may be viewed as logical

reaction to the degeneration thathad gripped

the political system in the U.S.A.

In the context of the above statements,

which of the following is true ?

(A) (A) is false, but (R) is true

(B) (A) 1s true, but (R) 1s false

(C) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(D) Both (A) and (R) are true, but (R) is
not the correct explanation to (A)

Paper 11



%
77. F°. cémw. O TON0E 200882
TORT LT,0NT BRNFETY, ATF RIT
SEIBTE) T3, CORATRT0 83 FFNSHTONSS,
035932 T3,BORRTITTI ?
L. % @y . oA
2. DOWEFE o°
3. TOLEFE RN
4. [T Fwo
FoFeSNeD !
(A) 1393
(B) 2 =»3
(C) 1323
(D) 1,233

78. BT c3§ TVOBRCTIOD @ F FODFR)

83 3INT CIRRTT w7 MOTTORLIeR0 2

(A) IRBT DWOF FOXTRT sso’ea%'a&ﬁ
RRBERNTIO0E

(B) SneE Dwor wIE whEonves
(RERFEBOOT) et RT3

(C) SIRRT DDdF FO0INT Jed JORT
T 8,030nY TFTNTode

(D) @388 D30 FO0IRT eS0T,
RPTRNTTO30C

79. AOOTTINCT & eTFwo ﬁbw%oédg) FINTRNGS,
08E FHOROT RITERORR D) ?
(A) =363 %@Doé
(B) 283068 4003
(C) WBEF R 45 AT
(D) m@RWT-B38F3 f%cy%os
Paper 11

28

Total Number of Pages : 40

80. 53000 AR ETSEIT FTT ST0TVE0IN
33 39NI m@d@ oWORBTONT ?

(A) ToNOT AeInen

(B) 030088 t3630:3L58NY oRRTTEoE,
(C) =808 Tgze Hopeime ST,

(D) Ae320%7F 233053833030 éérwd@éﬁ

81. =63 03peSo30

2T,
(A) B0’ g,
(B) ooz mi

(C) R T8,
(D) Tordzosrs 03Rexs

5]

82. @@%@pﬁd m%ﬁ%d DT, BT TONR

TR, RO méwabaées SEOTHE

SRTONYS) LYSRREANORE ToBTITY,

50@3&@06@6’% :

1. 83 BRTOND GUTOINE TN DT
@@&r% SRR m@maﬁd.

2. B3 IRTOMR YVUTOINTRY, TN
mramfa@%.r% =R, BRENG.

3. B3 BRTOMO @38 TOTOI w%aﬁqg
wdmo&aﬁo@dioé QW IO éz?%
RRTRIRT.

4. 35 BRTOM w38 BOHTOR wcgpéﬁefs%
@ﬁr&m@dioé WTEROWRLD éz?%
RRTHOT éodoé@ocgdo@.

Zodeansh ;
(A) 13533
(C) 2 R34

(B) 2 =33
(D) 1 =34
K - 2320



77. The ecological approach to the study
of Public Administration was initiated
by which of the following long before
F.W. Riggs ?

1. J. W. Gaus
2. Robert Dhal
3. Robert Morton
4. Max Weber
Codes :
(A) 1 only
(B) 2 only
(C) 1and 3
(D) 1,2 and 3
78. The necessary purpose of financial audit
should be to focus on

(A) Whether the expenditure was
incurred for right purpose

(B) Whether the expenditure had the
approval of the top management

(C) Whether the expenditure was
in accordance with rules and
procedures

(D) Whether the expenditure was made
at proper time
79. Traditional theory of motivation is not
known as
(A) Economic Theory
(B) Monistic Theory
(C) Carrot and Stick Theory
(D) Socio-Economic Theory
K -2320
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80. In Weberian formulation, bureaucracy
refer to

(A) The civil services
(B) Legalisation of collective activities

(C) The most efficient form of
organisation

(D) Rationalisation of collective
activities
81. Economic Planning is in
(A) Union List
(B) State List
(C) Concurrent List
(D) Five Year Plan

82. The developing countries of Asia, Africa
and Latin America which adopted
Western. Administrative Models
discovered that

1. These models were useful and valid
for all times.

2. These models were not useful and
valid for all times.

3. The models were found to be more
suitable to maintain existing systems
than for changing the system.

4. The models were suitable to change
existing system than for maintaining

them.
Codes :
(A) 1and 3 (B) 2 and 3
(C) 2and 4 (D) 1and 4
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83. Given below are two statements, one
labeled as Assertion (A) and the other
labeled as Reason (R).

Assertion (A) : A Welfare State is one
which is wedded to the principle of
promoting the general welfare and well
being of the people.

Reason (R) : India, in principle, is a
Welfare State.

In the context of the above statements,
which of the following is true ?

(A) (A) is false, but (R) is true
(B) (A) 1s true, but (R) 1s false

(C) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(D) Both (A) and (R) are true, but (R) is
not the correct explanation to (A)

84. Given below are two statements, one
labeled as Assertion (A) and the other
labeled as Reason (R).

Assertion (A) : The relationship between
human dignity and Social Justice is viewed
as one of the mutual interdependence.
Reason (R) : That which contributes
to the fulfilment of the dignity and
highest potential of each man will also
contribute to the well being of the Total
Community.

In the context of the above statements,
which of the following is true ?

(A) (A) is false, but (R) is true
(B) (A) 1s true, but (R) 1s false

(C) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(D) Both (A) and (R) are true, but (R) is
not the correct explanation to (A)
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85. The administrative theories and models
which were mostly developed before
the IT world war were generally the off
shoots of the

(A) Mental Revolution
(B) Russian Revolution
(C) Industrial Revolution
(D) Information and Technology
Revolution
86. Arrange the following Committees :

1. Satishchandra Committee on Civil
Services.

2. Dharma Veer Commission on
Police.

3. Santhanam Committee on
Corruption.

4. Sarkaria Commission on Centre
State Relation.

Codes :
(A) 2,1,3,4 B) 4,1,2,3
) 3,2,4,1 D) 1,3,4,2

87. Which of the following Pairs are the All
India Services ?

(A) Indian Administrative Services
(IAS) and Indian Foreign Service
(IFS)

(B) Indian Foreign Service (IFS) and
Indian Police Service (IPS)

(C) Indian Police Service (IPS) and
Indian Administrative Service
(IAS)

(D) Indian Forest Service and Indian
Revenue Service
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88. Paul H. Appleby in his two reports on
Indian Administration, was critical of
the role of CAG and its abolition. Do
you think that the powers and functions
of CAG should be properly defined in
the context of policy paralysis relating to
“2G spectrum” and Coal block allocation
cases. Which of the following reasons
do you strongly attribute for effective

functioning of the CAG ?

1. Restrict the function to the
examination of accounts as to
the correctness and legality of

expenditure

2. Systematic recording of financial
transaction in the books of

accounts

3. Policy formulation regarding

allocation of Financial resources

4. Restrict the functions in
monitoring the misappropriation of
Public funds

Codes :
(A) 3,4
B) 1,2,4
©) 2,3,4

(D) 1,2
K - 2320
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89. Match List — I with List — II and select
the correct option from the codes given

below :
List—1 List — 1T
a. Kengal 1. Criminal Justice
Hanumanthaiah System
b. Venkatachalaiah 2. First
Administrative
Reforms
Commission
c. Justice 3. Second
Mallimath Administrative
Reforms
Commission
d. Veerappa 4. Constitutional
Moily Review
Commission
Codes :
a b ¢ d
A 2 1 3 4
@ 2 4 1 3
<o 3 1 4 2
) 3 2 4 1

90. Cabinet Secretary is associated with the
following activities.
Answer the codes given below :

1. Principal Secretary to the PM.

2. Head of the Civil Service.

3. Principal advisor to the President.
4. Secretary to the Cabinet.

Codes :
(A) 1,2 (B) 2,3
) 2,4 (D) 3,1
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91. Match List — I with List — II and select
the correct option from the codes given

below :
List -1 List — 11
a. BWSSB 1. Chief
Executive Officer
b. Municipal 2. Chairman
Corporation
c. Zilla 3. Commissioner
Panchayat
d. City 4. Chief Officer
Municipal
Council
Codes :
a b C d
A 13 4 2
B) 2 3 1 4
) 3 4 2 1
D) 4 2 1 3

92. Arrange the following in a chronological
order of Public Administration as a
discipline.

1.

A

Principles approach.

Public Policy approach.
Administrative behaviour.
Politics-Administration dichotomy.
Ecological approach

Codes :

(A)
(B)
(®)
(D)

4,1,5,3,2
4,1,3,2,5
4,1,3,5,2
4,1,2,3,5
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93. New Public Management (Privatisation
of Administration) is associated with the

following activities.

Select the correct answer from the codes

given below :

1. Collecting fees from Motor
vehicles per hour of parking in

public places.

2. Collecting taxes from motor

vehicles to use State Roads.

3. Collecting Tolls for using the Roads
constructed under public-private

partnership.

4. Collecting Tax from motor vehicles
for parking in private places without

permission.

Codes :

(A) 1,2 and 3
(B) 2,3and 4
(C) 3,4and 1
(D) 1and 3

94. What is survey method ?
(A) Field studies
(B) Laboratory Experiments
(C) Field Experiments
(D) Historical Research
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95. Which one of the following is not correct ?
Part IX A of the Constitution of

India pertaining to the Municipalities
provides.

(A) that grant-in-aid be made to the
Municipalities from the Consolidated
Fund of the State

(B) for setting up a separate Finance
Commission for the Municipalities

(C) for setting up Committee for District
Planning

(D) for setting up Committee for
Metropolitan Planning

96. Given below are two statements, one
labeled as Assertion (A) and the other
labeled as Reason (R).

Assertion (A) : Public Administration
1s characterized by an absence of Profit
motive.

Reason (R) : The basic aim of
governmental activities is not to
maximize profit but to promote social
welfare.

In the context of the above statements,

which of the following is true ?

(A) (A) is false, but (R) is true

(B) (A) 1s true, but (R) 1s false

(C) Both (A) and (R) are true and (R) is

the correct explanation of (A)
(D) Both (A) and (R) are true, but (R) is
not the correct explanation to (A)
K -2320
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97-100 : The field of development anthropology
has been around long enough to know, in
general terms, what works and what does not
when designing programs of planned change.
It would be overstating the case to suggest
that an anthropologically informed project
that takes into consideration local cultural
realities is bound to succeed. But it would
not be unreasonable to hold that any project
ignoring local cultures is very likely to shoot
itself in the foot. It is, therefore, stunning to
read about a development project initiated
in the 1990s that so thoroughly avoided
addressing the major issues of development
anthropology. Applied anthropologist William
Loker (2000) describes a $ 25 million project
in central Honduras designed (allegedly) to
create sustainable development while at the
same time protect the environment.

The El Cajon watershed Renewable Natural
Resource Program was designed to help
very poor people who had been displaced a
decade earlier by the construction of a large
dam controlled and operated by the national
electrical authority. Although the planning
documents said all of the right things, the
implementation was quite another story. First,
because there was no anthropological input,
the project administrators knew little about the
local culture, attitudes or local organisations.
Project plans called for active participation by
local people and close coordination with local
non-governmental Organisation (NGO’s).
Yet owing to lack of interest, a lack of good
information, or both neither of these proposed
goals was successfully carried out.
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97. What should be the main concern of

development anthropology ?

(A) Toknow what works when designing

planned change

(B) To know what does not work when

designing planned change

(C) To know what works and what does
not work when designing planned

change

(D) To design planned change

98. An anthropologically informed project

means

(A) That anthropologists are also the

executors of the project

(B) That it seeks the views of
anthropologists on the modalities

of the project

(C) That it takes into consideration local

cultural realities

(D) That it ignores local cultures in
favour of anthropologists personal

opinion
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99. What did the E1 Cajon Watershed
Renewable Natural Resource Program

in Honduras want to achieve ?
1. To create sustainable development
2. To protect the environment

3. To create sustainable development
and at the same time protect the

environment

4. To help very poor people who had
been displaced earlier

Codes :
(A) 1and 2 (B) 2 and 3
(C) 1and 3 (D) 3and 4

100. Why did the Watershed Renewable
Natural Resource Program fail ?

(A) The local non-governmental

organisation were left out

(B) Active participation of local people
in the project was not sought

(C) There was a general lack of interest
on the part of all the stakeholders

(D) Lack of interest and lack of good
information about local cultural
realities contributed to the failure of

the program
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